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1 |deiEE
2 |EEHER
3 |&FE 1.6E+2| 7.3E+0 162.3 8.5E+2 850.0 1,012.3
4 [ERE 7.6E+2 760.0 2.3E+3 2,300.0 3,060.0
5 |®MHEER
6 |ILER 8.5E+1 85.0 1.1E+3 1,100.0 1,185.0
7 |EER 2.3E+0 2.3 2.3
8 |ZWE 5.6E+1 55.7 1.6E+3| 8.2E+2 2,420.3 2,476.0
9 |#HHKE 2.5E+1 25.0 53E+1| 1.3E+4 12,993.3 13,0183
10 |BHEE 1.5E+2| 7.6E+1 226.3 1.4E+3 1,420.0 1,646.3
11 |BER 1.4E+1| 1.0E-1 14.1 29E+1| 6.1E+2 639.2 6533
12 | FEE 4 5E+2 4548 4.0E+3 4,010.2 4,465.0
13 |READ 3.3E+3 3,300.0 3,300.0
14 |#E)IE 71E+0| 1.4E+1 21.1 4 8E+2 484.1 505.2
15 |$FiRE 3.2E+1 32.0 1.3E+3 1,300.8 1,332.8
16 |[EWLE
17 |BNE 2.0E-1 0.2 7.0E-1 0.7 0.9
18 |[EHE
19 |ILBE
20 |RHE
21 |IKEE 3.0E-1 0.3 0.3
22 |BEE
23 |BHE 1.0E-1| 2.9E+3 2,921.1 2.921.1
24 |[=ZEER 1.3E+1 12.9 1.4E+4 13,703.0 137159
25 |ipER 1.7E+0 1.7 3.0E-1| 1.5E+2 150.3 152.0
26 |RERAT 4 .8E+1 48.0 8.8E+2 880.0 928.0
27 | KBRFF 7.0E-1 0.7 3AE+1| 2.4E+1 55.6 56.3
28 |EER 1.6E+2| 9.6E+2 1117.3 9.6E+2| 5.1E+3 6,090.7 7,208.0
29 |E=RE
30 [fOFRLE 4 4E+0| 1.0E-1 45 1.6E+0 1.6 6.1
31 |EWE
32 |BRE
33 |MWLE
34 |IEBR 9.9E+1| 4.0E+0 103.0 1.7E+3 1,700.0 1,803.0
35 [WwOg 29E+3| 9.1E+3 12,018.1 12,0181
36 |[EER 4 2E+0 42 42
37 | FINER
38 |EBEER
39 |=HER
40 |fEMEE
41 |EER
42 | RIER
43 [REXRE 5.5E+4 55,000.0 55,000.0
44 | KHE
45 | BIBE
46 |[ERIRBE
47 B
2 5 42E+3| 1.1E+4 15,149.5 2.7E+3| 1.1E+5 111,320.9 126.470.4
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